

Appendix A. The FKG inequality

Here we will prove the inequality stated in §2.2, which is due to Fortuin, Kasteleyn, and Ginibre (1971). Since it is no doubt useful for the study of percolation processes on lattices other than the square lattice, we will prove it in its original formulation as a general result about correlations on a finite distributive lattice.

A subset Γ' of a lattice Γ is called a sublattice of Γ if for any x and y in Γ' , $x \vee y$ and $x \wedge y$ also lie in Γ' . A subset Γ' of a lattice is called a lower layer (semi-ideal in the terminology of [15]) if whenever $x \in \Gamma'$ and $y \in \Gamma$ with $y \leq x$, then $y \in \Gamma'$. The length of a totally ordered set of n elements is defined as the least upper bound of the lengths of the totally ordered subsets of Γ . If Γ is finite and non-empty, it has a least element 0 and a greatest element 1 ; a minimal element $x \neq 0$ of a lattice is called an atom.

The lemma below is needed in the induction step of the proof of the main result:

Lemma A.1 Let Γ be a finite distributive lattice with an atom a ; let Γ'_a , Γ''_a , and Γ_a be the sets $\{x \in \Gamma: x \geq a\}$, $\{x \in \Gamma: x \not\geq a\}$, $\{x \in \Gamma: x = x' \vee a \text{ for some } x' \in \Gamma''_a\}$, respectively. Then

- (i) Γ'_a , Γ''_a , and Γ_a are finite distributive lattices;
- (ii) Γ''_a and Γ_a are (lattice) isomorphic;
- and
- (iii) Γ_a is a lower layer of Γ'_a .

Proof (i). It is trivial that Γ'_a is a sublattice of Γ (and hence a lattice). If $x \in \Gamma''_a$ then $x \wedge a < a$ and therefore, since a is an atom, $x \wedge a = 0$; conversely, if $x \wedge a = 0$ then $x \in \Gamma''_a$. If x and y are in Γ''_a then $(x \wedge y) \wedge a = x \wedge (y \wedge a) = 0$; also, $(x \vee y) \wedge a = (x \wedge a) \vee (y \wedge a) = 0 \vee 0 = 0$, so Γ''_a is a sublattice of Γ . Finally, if $x', y' \in \Gamma''_a$, $x = x' \vee a$ and $y = y' \vee a$, then $x \wedge y = (x' \vee a) \wedge (y' \vee a) = (x' \wedge y') \vee a$ and $x \vee y = (x' \vee a) \vee (y' \vee a) = (x' \vee y') \vee a$. So both $x \vee y$ and $x \wedge y$ lie in Γ_a , i.e., Γ_a is a sublattice of Γ . Since Γ is finite and distributive, so are Γ'_a , Γ''_a , and Γ_a .

(ii). If $x \in \Gamma''_a$ then $x \vee a \in \Gamma_a$. Conversely, if $x \in \Gamma_a$ there exists an $x' \in \Gamma''_a$ such that $x = x' \vee a$. Suppose that also $x = x'' \vee a$ with $x'' \in \Gamma''_a$. Then $x' = x' \wedge (x' \vee a) = x' \wedge (x'' \vee a) = (x' \wedge x'') \vee (x' \wedge a) = (x' \wedge x'') \vee 0 = x' \wedge x''$, and by symmetry, $x'' = x' \wedge x''$. Hence $x' = x''$ and it follows that the mapping $x \rightarrow x \vee a$ from Γ''_a onto Γ_a is one-to-one; since $x \wedge y \rightarrow (x \wedge y) \vee a$ and $x \vee y \rightarrow (x \vee y) \vee a$, this mapping is a lattice isomorphism.

(iii). Let $x = x' \vee a$ be an element of Γ_a and suppose that $y \in \Gamma'_a$ with $y \leq x$. Then $(y \wedge x') \vee a = (y \vee a) \wedge (x' \vee a) = y \wedge x = y$;

so $y = y' \vee a$ with $y' = y \wedge x' \leq x'$, and therefore $y' \in \Gamma''_a$. Thus $y \in \Gamma_a$ by definition, and Γ_a is a lower layer of Γ'_a . If I'' is the greatest element of Γ''_a , the greatest element of Γ_a is $I'' \vee a$, and for any $x \in \Gamma_a$ the corresponding element in Γ''_a is $x' = x \wedge I''$.

In the proof of Theorem 2.4 below, no generality is lost in taking μ to be a probability measure on the power set of Γ . If Γ' is a subset of Γ , let

$$E'_\mu(f) \equiv \frac{\sum_{x \in \Gamma'} \mu(x) f(x)}{\sum_{x \in \Gamma'} \mu(x)}$$

Proof of Theorem 2.3. Note first that it is enough that f and g be increasing on the support of μ , i.e., $\{x \in \Gamma: \mu(x) > 0\} \equiv \Gamma_0$, since E_μ is determined only by this set; and (2.3) is trivial unless both x and y are in Γ_0 . So we may assume that $\Gamma_0 = \Gamma$, i.e., that μ is strictly positive on Γ .

If Γ has a single element then $\iota(\Gamma) = 0$, and (2.4) holds with equality. Otherwise $\iota(\Gamma) \geq 1$ and Γ contains at least one atom. Assume now that the theorem holds for any lattice of length $\leq n-1$, and let Γ be a lattice of length $n \geq 1$ and μ a strictly positive probability measure on Γ . Let f and g be increasing functions on Γ . Let

$$(A.1) \quad \theta = E_\mu(fg) - E_\mu(f)E_\mu(g) = \sum_{x, y \in \Gamma} \mu(x)\mu(y) [f(x)g(x) - f(x)g(y)].$$

Let a be an atom of Γ , and let Σ' and Σ'' denote the sum in (A.1) taken over all elements of Γ'_a and Γ''_a , respectively. We

can rewrite θ as:

$$(A.2) \quad \theta = \sum_x^I \sum_y^I \mu(x)\mu(y) [f(x)g(x) - f(x)g(y)] \\ + \sum_x^{II} \sum_y^{II} \mu(x)\mu(y) [f(x)g(x) - f(x)g(y)] \\ + \sum_x^I \sum_y^{II} \mu(x)\mu(y) [f(x)g(x) - f(x)g(y) + f(y)g(y) - f(y)g(x)].$$

Clearly μ satisfies (2.3) on the sublattices Γ_a^I , Γ_a^{II} , and Γ_a , and f and g are increasing on these lattices. Now $\iota(\Gamma_a^I) = n-1$ and $\iota(\Gamma_a^{II}) \leq n-1$, so by the induction hypothesis, the first two sums in (A.2) are non-negative. In the third sum we can again use the induction hypothesis on the first and third terms; putting all of this together we have (omitting the summation variables):

$$(A.3) \quad \theta \geq \frac{\sum^I \mu f \sum^I \mu g \sum^{II} \mu}{\sum^I \mu} + \frac{\sum^I \mu \sum^{II} \mu f \sum^{II} \mu g}{\sum^{II} \mu} \\ - \sum^I \mu f \sum^{II} \mu g - \sum^I \mu g \sum^{II} \mu f,$$

which becomes

$$(A.4) \quad \theta \geq (\sum^I \mu \sum^{II} \mu)^{-1} (\sum^I \mu f \sum^{II} \mu - \sum^I \mu \sum^{II} \mu f) (\sum^I \mu g \sum^{II} \mu - \sum^I \mu \sum^{II} \mu g).$$

We now claim that all factors on the right-hand side of (A.4) are non-negative, i.e., that

$$(A.5) \quad E_{\mu}^{II}(f) \leq E_{\mu}^I(f), \quad E_{\mu}^{II}(g) \leq E_{\mu}^I(g).$$

If this can be established it will follow that $\theta \geq 0$, and the theorem will be proved.

To do this, we will show that

$$(A.6) \quad E''_{\mu}(f) \leq E^a_{\mu}(f) \leq E'_{\mu}(f),$$

$$\text{where} \quad E^a_{\mu}(f) \equiv \frac{\sum_{\Gamma_a} \mu(x)f(x)}{\sum_{\Gamma_a} \mu(x)}.$$

Consider the first inequality in (A.6); if $x \in \Gamma''_a$ and $y \in \Gamma''_a$ with $y \leq x$, then (2.3) implies that

$$(A.7) \quad \mu(x)\mu(y \vee a) \leq \mu(x \wedge (y \vee a))\mu(x \vee (y \vee a)) = \mu(y)\mu(x \vee a).$$

Therefore, if $\mu_a(x) \equiv \mu(x \vee a)$ for all $x \in \Gamma''_a$, the function $\frac{\mu}{\mu_a}$

is decreasing on Γ''_a . On the other hand, the function $f_a(x) \equiv f(x \vee a)$ is increasing on Γ''_a , since f increases on Γ_a . We apply the induction hypothesis to Γ''_a with the probability measure $\frac{\mu}{\sum'' \mu_a}$,

which satisfies (2.3); then

$$(A.8) \quad \sum'' \mu_a \sum'' \mu f_a \leq \sum'' \mu \sum'' \mu_a f_a.$$

Since f is increasing on Γ , $f \leq f_a$ on Γ''_a ; this and (A.8) give the first inequality in (A.6).

For the second, observe that

$$(A.9) \quad E^a_{\mu}(f) = \frac{E'_{\mu}(f l_{\Gamma_a})}{E'_{\mu}(l_{\Gamma_a})}.$$

Since Γ_a is a lower layer of Γ'_a , l_{Γ_a} is decreasing on Γ'_a , so that

$$(A.10) \quad E'_\mu(f 1_{\Gamma_a}) \leq E'_\mu(f) E'_\mu(1_{\Gamma_a}),$$

which by (A.9) gives the second inequality of (A.6).

The authors observe in [15] that the condition in (2.3) is not a necessary condition for increasing functions on Γ to have positive correlations, when $\iota(\Gamma) > 2$.

Appendix B. Ergodic theorems for subadditive processes

We give here a proof of Theorem 2.7 and a sketch of the proof of Theorem 2.8.

Lemma B.1 Let $\{x_{mn}\}$ be subadditive with time constant γ , and let $\xi = \limsup_n \frac{x_{0n}}{n}$.

Then ξ is a.s. finite and $E(\xi) = \gamma$; further, $\frac{x_{0n}}{n} \rightarrow \xi$ in L^1 .

Proof. Here we follow Kingman (1968). By subadditivity, for any fixed n ,

$$(B.1) \quad x_{0t} \leq \sum_{r=1}^{[t/n]} x_{(r-1)n, rn} + x_{[t/n]n, t}$$

$$\leq \sum_{r=1}^{[t/n]} x_{(r-1)n, rn} + w_{[t/n]n, t},$$

where $w_{[t/n]} = \sum_{u=0}^{n-1} |x_{[t/n]n+u, [t/n]n+u+1}|$.

By the Birkhoff ergodic theorem (using (2.6) and (2.7) of Chapter 2), the limit

$$z_n = \lim_N \frac{1}{N} \sum_{r=1}^N x_{(r-1)n, rn}$$

exists a.s., and $E(z_n) = E(x_{0n}) = g_n$.

Also, for any $\epsilon > 0$,

$$\sum_{N=1}^{\infty} p(w_N \geq N\epsilon) = \sum_{N=1}^{\infty} p(w_0 \geq N\epsilon) \leq \frac{1}{\epsilon} E(w_0) < \infty,$$

so that by the Borel-Cantelli lemma,

$$\frac{W_N}{N} \rightarrow 0 \text{ a.s.}$$

Inequality (B.1) then gives

$$\begin{aligned} \xi &\leq \limsup_{t \rightarrow \infty} \frac{x_{ot}}{[t/n]n} \leq \limsup_{t \rightarrow \infty} \frac{1}{[t/n]n} \left\{ \sum_{r=1}^{[t/n]} x_{(r-1)n, rn} + w_{[t/n]} \right\} \\ &= \frac{z_n}{n}. \end{aligned}$$

In particular, $\xi < \infty$ and $E(\xi) \leq \frac{g_n}{n}$. Since this holds for all n ,

$$(B.2) \quad E(\xi) \leq \gamma.$$

Now let

$$b_{st} = \sum_{r=s+1}^t x_{r-1, r} - x_{st};$$

b_{st} is then a non-negative superadditive process. If

$$B_n = \inf_{t \geq n} \frac{b_{ot}}{t},$$

then B_n is an increasing sequence, converging as $n \rightarrow \infty$ to

$$\liminf_{t \rightarrow \infty} \frac{b_{ot}}{t} = \liminf_{t \rightarrow \infty} \frac{1}{t} (a_{ot} - x_{ot}) = z_1 - \xi.$$

By monotone convergence,

$$\lim_{n \rightarrow \infty} E(B_n) = E(\lim_n B_n) = E(z_1 - \xi) = g_1 - E(\xi).$$

But we also have

$$\lim_{n \rightarrow \infty} E(B_n) = \lim_{n \rightarrow \infty} E\left(\frac{b_{on}}{n}\right) = \lim_{n \rightarrow \infty} \frac{ng_1 - g_n}{n} = g_1 - \gamma.$$

Hence $g_1 - E(\xi) \leq g_1 - \gamma$, so that

$$(B.3) \quad E(\varepsilon) \geq \gamma.$$

From (B.2) and (B.3) we see that $E(\xi) = \gamma$.

Finally,

$$\begin{aligned} E \left| \frac{b_{ot}}{t} - B_t \right| &= E \left(\frac{b_{ot}}{t} - B_t \right) = g_1 - \frac{g_t}{t} - E(B_t) \\ &\rightarrow (g_1 - \gamma) - (g_1 - \gamma) = 0, \end{aligned}$$

so that $\frac{b_{ot}}{t} - B_t \rightarrow 0$ in L^1 as $t \rightarrow \infty$. Since B_t is monotone and converges a.s. to $z_1 - \xi$, it converges in mean, and so $\frac{b_{ot}}{t} \rightarrow z_1 - \xi$ in mean. But by Birkhoff's theorem, $\frac{a_{ot}}{t} \rightarrow z_1$ in

mean, and so

$$\frac{x_{ot}}{t} = \frac{a_{ot} - b_{ot}}{t} \rightarrow \xi \quad \text{in } L^1 \quad \text{as } t \rightarrow \infty.$$

For the other half of the proof we follow the argument given by Burkholder in the discussion of [35].

Lemma B.2 There is a stationary sequence

f_0, f_1, \dots such that $E(f_0) = \gamma$ and

$$\sum_{k=s}^{t-1} f_k \leq x_{st} \quad 0 \leq s < t.$$

Proof. Let

$$(B.4) \quad f_{kn} = \frac{1}{n} \sum_{r=1}^n (x_{k,k+r} - x_{k+1,k+r}).$$

By (2.6), the sequence $f_{\infty 0} = (f_{0n}), f_{\infty 1} = (f_{1n}), \dots$ is stationary.

Take t with $t \geq k+1 \geq s+1$, and $n > t$. Since $x_{kr} - x_{k+1,r} \leq x_{k,k+1}$ for all $k+1 \leq r$,

$$nf_{kn} = \sum_{r=k+1}^{k+n} (x_{kr} - x_{k+1,r}) \leq \sum_{r=t+1}^r (x_{kr} - x_{k+1,r}) + t x_{k,k+1}.$$

Therefore,

$$n \sum_{k=s}^{t-1} f_{kn} \leq \sum_{r=t+1}^n (x_{sr} - x_{tr}) + t \sum_{k=s}^{t-1} x_{k,k+1}.$$

By (2.5), the first sum on the right-hand side is dominated by

$$\sum_{r=t+1}^n x_{st} - (n-t)x_{st}. \text{ Thus}$$

$$(B.5) \quad \sum_{k=s}^{t-1} f_{kn} \leq x_{st} + \frac{1}{n} w_{st} \text{ provided that } n > t,$$

$$\text{where } w_{st} = t \left[\sum_{k=s}^{t-1} x_{k,k+1} - x_{st} \right].$$

Now $f_{on} \leq x_{o1}$ and by (B.4),

$$E(f_{on}) = \frac{1}{n} \sum_{r=1}^n (g_r - g_{r-1}) = \frac{1}{n} g_n \geq \gamma.$$

$$\text{So } E|f_{on}| \leq E|x_{o1}| + E(x_{o1} - f_{on}) \leq E|x_{o1}| + g_1 - \gamma$$

and the sequence (f_{on}) is L^1 -bounded. By a theorem of Komlòs (1967) there is a sequence $n_1 < n_2 < \dots$ of positive integers and an integrable function f_o such that

$$A_o^j = \frac{1}{j} \sum_{i=1}^j f_{on_i} \rightarrow f_o \text{ a.s. as } j \rightarrow \infty.$$

By stationarity,

$$A_k^j = \frac{1}{j} \sum_{i=1}^j f_{kn_i} \rightarrow f_k \text{ a.s. as } j \rightarrow \infty$$

and (f_o, f_1, \dots) is a stationary sequence. Given $t \in \mathbb{N}$, let

$$i_t = \inf \{i: t < n_i\}$$

and define

$$A_0^j(t) = \frac{1}{j} \sum_{i=i_t}^{i_t+j-1} f_{on_i}$$

with a similar definition of $A_k^j(t)$. Clearly $A_k^j(t) \rightarrow f_k$ a.s.

as $j \rightarrow \infty$ for any t and $k \in N$. By (B.5),

$$\sum_{k=s}^{t-1} A_k^j(t) \leq x_{st} + w_{st} \left[\frac{1}{j} \sum_{i=i_t}^{i_t+j-1} \frac{1}{n_i} \right].$$

Letting $j \rightarrow \infty$, we get $\sum_{k=s}^{t-1} f_k \leq x_{st}$.

Let $\{x_{mn}\}$ be subadditive with time constant γ ; putting Lemmas B.1 and B.2 together we can prove that $\frac{x_{on}}{n}$ converges a.s. Let $y_{mn} = \sum_{k=m}^{n-1} f_k$, as in Lemma B.2. Then $x_{mn} = y_{mn} + z_{mn}$, where

$\{z_{mn}\}$ is non-negative and subadditive. Also,

$$E\left(\frac{z_{on}}{n}\right) = E\left(\frac{x_{on}}{n}\right) - E\left(\frac{y_{on}}{n}\right) = \frac{\xi_n}{n} - \gamma \rightarrow 0 \text{ as } n \rightarrow \infty, \text{ so the process}$$

$\{z_{mn}\}$ has time constant zero.

Applying Lemma B.1, if $\eta = \limsup_{n \rightarrow \infty} \frac{z_{on}}{n}$, we have $\eta \geq 0$, since $z_{on} \geq 0$, but $E(\eta) = 0$. Hence $\eta = 0$ a.s. and $\frac{z_{on}}{n} \rightarrow 0$ a.s. By the ergodic theorem, $\frac{y_{on}}{n} \rightarrow \xi$ a.s. and in L^1 , so that $\frac{x_{on}}{n} \rightarrow \xi$ a.s. and in L^1 .

Finally suppose that the process $\{x_{mn}\}$ is independent. Let \mathcal{F} be the σ -field of events generated by $\{x_{mn}\}$ which are invariant under the shift $\theta: x_{mn} \rightarrow x_{m+1, n+1}$. It is easy to see that ξ is measurable in \mathcal{F} ; since $\{x_{mn}\}$ is independent, \mathcal{F} is trivial, and it follows that $\xi = \gamma$ a.s. This completes the proof of Theorem 2.7.

The proof of Theorem 2.8 rests on Theorem B.3 below. As observed by Dunford (1951), this theorem is essentially a consequence of a mean ergodic theorem of F. Riesz (1938); the proof is implicit in the proof of the main theorem in Dunford's paper.

Theorem B.3 Let $\{x_{\underline{j}}\}_{\underline{j} \in \mathbb{N}^2}$ be an array of random variables stationary under the shifts $\theta_1: x_{i,j} \rightarrow x_{i+1,j}$ and $\theta_2: x_{i,j} \rightarrow x_{i,j+1}$. Let $S_{\underline{n}} = \sum_{\underline{j} \leq \underline{n}} x_{\underline{j}}$ and, if $\underline{n} = (n_1, n_2)$, let $|\underline{n}| = n_1 n_2$. Then if $x_{(1,1)}$ is integrable, $\frac{S_{\underline{n}}}{|\underline{n}|}$ converges in L^1 .

The proof of Theorem 2.8 proceeds as in Lemma B.1, using Theorem B.3 in place of the Birkhoff theorem, and a standard diagonal argument; the details may be found in [47].

REFERENCES

- [1] Billingsley, Patrick (1968). Convergence of Probability Measures. Wiley, New York.
- [2] Bishir, J. (1963). A lower bound for the critical probability in the one-quadrant oriented-atom percolation process. J. Roy. Stat. Soc. Ser. B 25, 401-404.
- [3] Broadbent, S. R. and Hammersley, J. M. (1957). Percolation processes. I. Crystals and mazes. Proc. Camb. Phil. Soc. 53, 629-641.
- [4] Chung, K. L. (1974). A Course in Probability Theory. Second edition. Academic Press, New York.
- [5] Dean, P. and Bird, N. F. (1967). Monte Carlo estimates of critical percolation probabilities. Proc. Camb. Phil. Soc. 63, 477-479.
- [6] Del Junco, A. (1977). On the decomposition of a subadditive stochastic process. Ann. Prob. 5, 298-302.
- [7] Derrienic, Y. (1975). Sur le théorème ergodique sous-additif. Comptes Rendus Acad. Sci. Paris Ser. A 281, 985-988.
- [8] Dunford, N. (1951). An individual ergodic theorem for non-commutative transformations. Acta Sci. Math. Szeged. 14, 1-4.
- [9] Essam, J. W. (1972). Percolation and cluster size. Phase Transitions and Critical Phenomena, Volume 2, C. Domb and M. S. Green, editors, Academic Press, New York.
- [10] Essam, J. W. and Fisher, M. E. (1961). Some cluster size and percolation problems. J. Math. Phys. 2, 609-619.
- [11] Feller, W. (1971). An Introduction to Probability Theory and its Applications, Volume 2, second edition, Wiley, New York.
- [12] Fisher, M. E. (1961). Critical probabilities for cluster size and percolation problems. J. Math. Phys. 2, 620-627.
- [13] Fisher, M. and Sykes, M. F. (1959). Excluded volume problem and the Ising model of ferromagnetism. Phys. Rev. (Ser. 2) 114, 45-58.
- [14] Fortuin, C. M. (1972). On the random cluster model II. The percolation model. Physica 58, 393-418.

- [15] Fortuin, C. M., Kasteleyn, P. W., and Ginibre, J. (1971). Correlation inequalities on some partially ordered sets. Comm. Math. Phys. 22, 89-103.
- [16] Frisch, H. L. and Hammersley, J. M. (1963). Percolation processes and related topics. J. SIAM 11, 894-918.
- [17] Furstenberg, H. and Kesten, H. (1960). Products of random matrices. Ann. Math. Stat. 31, 457-469.
- [18] Grimmett, G. R. (1976). On the number of clusters in the percolation model. J. London Math. Soc. Ser. 2, 13, 346-350.
- [19] Hammersley, J. M. (1957). Percolation processes. II. The connective constant. Proc. Camb. Phil. Soc. 53, 642-645.
- [20] Hammersley, J. M. (1959). Bornes superieures de la probabilité critique dans un processus de filtration. Le Calcul des Probabilités et ses Applications. Centre national de la recherche scientifique, Paris, 17-37.
- [21] Hammersley, J. M. (1961A). The number of polygons on a lattice. Proc. Camb. Phil. Soc. 57, 516-523.
- [22] Hammersley, J. M. (1961B). On the rate of convergence to the connective constant of the hypercubical lattice. Quart. J. Math. Oxford Ser. 2, 12, 250-256.
- [23] Hammersley, J. M. (1963). Long-chain polymers and self-avoiding random walks. Sankhya 25, 15-34.
- [24] Hammersley, J. M. (1966). First passage percolation. J. Roy. Stat. Soc. Ser. B 28, 491-496.
- [25] Hammersley, J. M. (1974). Postulates for subadditive processes. Ann. Prob. 2, 652-680.
- [26] Hammersley, J. M. and Welsh, D. J. A. (1962). Further results on the rate of convergence to the connective constant of the hypercubical lattice. Quart. J. Math. Oxford Ser. 2, 13, 108-110.
- [27] Hammersley, J. M. and Welsh, D. J. A. (1965). First passage percolation, subadditive processes, stochastic networks, and generalized renewal theory. Bernoulli-Bayes-Laplace Anniversary Volume, J. Neyman and L. M. LeCam, editors, Springer-Verlag, Berlin.

- [28] Harris, T. E. (1960). A lower bound for the critical probability in a certain percolation process. Proc. Camb. Phil. Soc. 56, 13-20.
- [29] Hille, E. and Phillips, R. S. (1957). Functional Analysis and Semi-Groups, American Mathematical Society, Providence, R. I.
- [30] Ishitani, Hiroshi (1977). A central limit theorem for the subadditive process and its application to products of random matrices. Publ. R. I. M. S., Kyoto Univ., volume 12, no. 3, 565-575.
- [31] Kesten, Harry (1963). On the number of self-avoiding walks. J. Math. Phys. 4, 960-969.
- [32] Kesten, Harry (1964). On the number of self-avoiding walks. II. J. Math. Phys. 5, 1128-1137.
- [33] Kesten, Harry (1973). Random difference equations and renewal theory for products of random matrices. Acta Math. 131, 107-148.
- [34] Kingman, J. F. C. (1968). The ergodic theory of subadditive stochastic processes. J. Roy. Stat. Soc. Ser. B 30, 499-510.
- [35] Kingman, J. F. C. (1973). Subadditive ergodic theory. Ann. Prob. 1, 883-909.
- [36] Komlos, J. (1967). A generalization of a problem of Steinhaus. Acta Math. Acad. Sci. Hungar. 18, 217-229.
- [37] Kurkijarvi, J. and Padmore, T. C. (1975). Percolation in two-dimensional lattices, J. Phys. A 8, 683-696.
- [38] Mauldon, J. G. (1961). Asymmetric oriented percolation on a plane. Proceedings, Fourth Berkeley Symposium, Vol. 2, 337-345.
- [39] Morgan, R. W. and Welsh, D. J. A. (1965). A two-dimensional Poisson growth process. J. Roy. Stat. Soc. Ser. B 27, 497-504.
- [40] Reh, Wolfgang (1977). Personal communication.
- [41] Richardson, Daniel (1974). Random growth in a tessellation. Proc. Camb. Phil. Soc. 70, 515-528.
- [42] Riesz, F. (1938). Some mean ergodic theorems. J. London Math. Soc. 13, 274-278.

- [43] Saks, Stanislaw (1964). Theory of the Integral, second edition, Dover, New York.
- [44] Seymour, P. D. and Welsh, D. J. A. (1977). Percolation probabilities on the square lattice. Proceedings, Cambridge Conference on Combinatorial Theory 1977, to appear.
- [45] Shante, V. K. S. and Kirkpatrick, S. (1971). An introduction to percolation theory. Adv. Phys. 20, 325-357.
- [46] Smythe, R. T. (1973). Strong laws of large numbers for r-dimensional arrays of random variables. Ann. Prob. 1, 164-170.
- [47] Smythe, R. T. (1976A). Multiparameter subadditive processes. Ann. Prob. 4, 772-782.
- [48] Smythe, R. T. (1976B). Remarks on renewal theory for percolation processes. J. Appl. Prob. 13, 290-300.
- [49] Smythe, R. T. and Wierman, John C. (1977). First passage percolation on the square lattice. I. Adv. Appl. Prob. 9, 38-54.
- [50] Smythe, R. T. and Wierman, John C. (1978). First passage percolation on the square lattice. III. Adv. Appl. Prob. 10 (to appear).
- [51] Sykes, M. F. and Essam, J. W. (1964). Exact critical percolation probabilities for site and bond problems in two dimensions. J. Math. Phys. 5, 1117-1127.
- [52] Sykes, M. F., Gaunt, D. S., and Glen, M. (1976A). Percolation processes in two dimensions. II. Critical concentrations and the mean size index. J. Phys. A 9, 97-103.
- [53] Sykes, M. F., Gaunt, D. S., and Glen, M. (1976B). Percolation processes in two dimensions. III. High-density series expansions. J. Phys. A 9, 715-724.
- [54] Sykes, M. F., Gaunt, D. S., and Glen, M. (1976C). Percolation processes in two-dimensions. IV. Percolation probability. J. Phys. A 9, 725-730.
- [55] Temperley, H.N.V. and Lieb, E.H. (1971). Relations between the 'percolation' and 'colouring' problem and other graph-theoretical problems associated with regular planar lattices: some exact results for the 'percolation' problem. Proc. Roy. Soc. London A 322, 251-280.

- [56] Welsh, D.J.A.(1965). An upper bound for a percolation constant. J. Appl. Math. Phys. 16, 520-522.
- [57] Welsh, D.J.A.(1977). Percolation and related topics. Science Progress 64, 65-83.
- [58] Whitney, Hassler (1932). Nonseparable and planar graphs. Trans. Amer. Math. Soc. 34, 339-362.
- [59] Whitney, Hassler (1933). Planar graphs. Fund. Math. 21, 73-84.
- [60] Wierman, John C. (1977). First passage percolation on the square lattice. II. Adv. Appl. Prob. 9, 283-295.
- [61] Wierman, John C. and Reh, Wolfgang (1978). On conjectures in first passage percolation theory. Ann. Prob. 6. to appear.

Subject Index

<u>Subject</u>	<u>Page</u>
Asymmetric oriented percolation	167
Average cluster size	59
Barrier	72ff, 83, 99, 151
Bernoulli percolation	3, 28ff, 138, 156
Birkhoff ergodic theorem	143, 183, 185
Bond	1
Closed	2, 28, 112, 138
Cluster	5, 30, 46, 50, 109, 139
Open	2, 28, 109, 112, 139
Oriented	2, 158, 167
Unoriented	2
Bond percolation	2, 14
Circuit (graph)	5, 9, 35, 41, 42, 139
Cluster (see bond, graph)	
Connectivity constant	24, 31, 49, 161, 168
Covariant event	13, 36
Critical probability	29ff, 49, 62, 109, 112, 138, 167, 170
Dual (see graph, sponge)	
First-passage time	3, 6, 63ff, 78ff, 159
Cylinder	64, 86, 113, 118
FKG inequality	12, 37ff, 177
Graph	5
Cluster	5
Component	5
Connected	5
Cut set	5, 9, 139
Dual	8
Hammersley's upper bound	49
Harris' cluster theorem	50
Harris' lower bound	42
Height process	128, 146ff, 168, 173
Infinite zero cluster	50
Kesten - Hammersley theorem	20, 85, 99
Kingman's ergodic theorem	17, 79, 87, 91, 183
Komlós' theorem	186

Lattice (algebraic)	13, 177
Lattice (graph)	1
Covering	2
Dual	34, 47, 74, 139, 152
Square	3, 24, 158
Mauldon's model	167
Mean cluster size	51
Monte Carlo results	62, 117, 163
Morgan - Welsh model	158, 162, 172
Oriented percolation	2, 158ff
Path	5
Connected	7
Cylinder	64
Self-avoiding	5, 26, 49, 63, 94, 96, 104, 136, 165, 168
Three-way cylinder	65, 85
Percolation probability	29
Percolation process	1, 7
Reach process	101ff, 110, 159, 172
Renewal function	101
Renewal theory	101ff, 168, 172
Richardson's model	175
Route	6, 76ff, 125
Existence	72ff
Height	128
Length	128ff, 168, 173
Seymour - Welsh theorem	28, 44
Site	1
Site percolation	2
Sponge	9, 30ff, 35, 44ff, 61, 112, 150
Dual	10, 34
"Stiff" percolation	167
Strong renewal theorem	172
Subadditive function	17, 81, 107, 116
Subadditive process	16, 25, 54, 78, 98, 171, 183
Two-dimensional	18, 54, 188
Time constant	17, 79ff, 111ff, 160, 170, 183
Continuity of	154ff, 172
Time coordinate	6, 67
Negative	75ff, 94ff
Time state	6, 118, 126, 156
Shifted	121, 135
Travel time	6
Truncation	107, 122ff, 154, 161

Unrestricted process	63
Weak renewal theorem	101, 105, 172
Whitney dual graph	8, 139